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Вырази в 
процентах

Выбери правильный 
ответ:

0,11 =  ?

1,1%11%1,01% 110%

11%

0,02 =  ?

0,2% 2% 20% 200%

2%

5    =  ?

0,5% 500%50% 5 000%

500%

0,2 =  ?

2% 20% 200%

20%

0,76 =  ?

7,6% 76%7,06%

76%

2 000%760%



Вырази в 
процентах

Выбери правильный 
ответ:

0,05 =  ?

50%5%0,5% 500%

5%

1       =  ?

0,01% 100%10% 1 000%

100%

0,19 =  ?

0,019% 19%1,9% 190%

19%

0,62 =  ?

6,2% 62% 620% 6 200%

62%

0,9 =  ?

0,09% 90% 900% 9 000%

90%



Вырази в 
процентах

Выбери правильный 
ответ:

0,07 =  ?

700%7% 70% 7 000%

7%

0,15 =  ?

1,5% 15%1,05% 1 500%

15%

6    =  ?

606%600%60% 6 000%

600%

0,8 =  ?

8% 80% 800% 8 000%

80%

0,57 =  ?

5,7% 57% 570% 5 700%

57%



Вырази в 
процентах

Выбери правильный 
ответ:

0,01 =  ?

100%1% 10% 1 000%

1%

0,4   =  ?

4% 40% 400% 4 000%

40%

2       =    ?

0,2% 200%20% 2 000%

200%

0,17 =  ?

1,7% 17% 170% 1 700%

17%

0,83 =  ?

830%83% 803% 8 300%

83%



Вырази в 
процентах

Выбери правильный 
ответ:

0,04 =  ?

40%4%0,4% 400%

0,7   =  ?

7% 70% 700% 7 000%

70%

8       =  ?

80% 800%88% 8 000%

800%

0,12 =  ?

1,2% 12%1,02%1,002%

12%

0,96 =  ?

960%96% 966% 9 600%

96%

4%



Вырази в 
процентах

Выбери правильный 
ответ:

0,87 =  ?

8,7% 87%8,07% 870%

87%

0,1   =  ?

1% 10% 100% 1 000%

10%

0,18 =  ?

108%18% 180% 1 800%

18%

7       =  ?

70% 700%107% 7 000%

700%

0,03 =  ?

30%3% 300% 3 000%

3%



Вырази в 
процентах

Выбери правильный 
ответ:

4    =  ?

140% 400%40% 4 000%

400%

0,6 =  ?

600%60% 160% 6 000%

60%

0,09 =  ?

0,9% 9% 90% 900%

9%

0,16 =  ?

1,6% 16%1,06%1,006%

16%

0,95 =  ?

9,5% 95% 950% 9 500%

95%



Вырази в 
процентах

Выбери правильный 
ответ:

0,24 =  ?

240%24%2,4% 2 400%

24%

9      =  ?

90% 900%190% 9 000%

900%

0,3   =  ?

0,03% 30%0,003% 3%

30%

0,08 =  ?

80%8% 810% 8 000%

8%

0,51 =  ?

5,1% 51% 510% 5 100%

51%



Вырази в 
процентах

Выбери правильный 
ответ:

0,39 =  ?

3,9% 39%3,09% 390%

39%

0,13 =  ?

1,3% 13% 130% 1 300%

13%

0,84 =  ?

8,4% 84%8,04%8,004%

84%

400  =  ?

4% 40000%400% 4 000%

40000%

0,06 =  ?

60%6% 600% 6 000%

6%



Вырази в 
процентах

Выбери правильный 
ответ:

0,47 =  ?

4,7% 47%4,07% 470%

47%

0,14 =  ?

1,4% 14% 140% 1 400%

14%

0,77 =  ?

7,7% 77%7,07%7,007%

77%

3      =  ?

30% 300% 3 000% 30000%

300%

0,5 =  ?

500%50% 5 000% 50000%

50%
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Интернет - 
источники


